"time": “10:20

(
1
"group”: "4th’,

"lightValue": "242",

"“rotationValue": “130",

“time": “10:20

b

{
"group”: "1st",
"lightValue": "
"rotationValue"
“time": “10:20

{,
"group”: "2nd",
"lightValue": "364",
"“rotationValue": "90",
“time": “10:20

"group”: "3rd",
"lightValue": "163",
"rotationValue"
“time": “10:20

"group”: "4th’,
"lightValue": "236",

ig
ot} al
"Iime” "10:20:16"

tamst

“roup: "4,
"lightValue": "234",
“rotationValue": "130",
“time": "10:20:16"

13

“lightValue": "409",
"rotatigpValue”: “180",

“group’: "2nd’,
"lightValue": "365",
“rotationValue": "90",

INOS

“group”: "3rd",
"lightValue": "171",
tationValue": 165",

“group”: “4th",
"lightValue": "242",
“rotationValue": “130",
“time": "10:20:16"

“group”: “1st’,
"lightValue”: "410",

"group”: "1s{
“lightValue";
"rotationVal
“time": "10:20:17"
b
{
"group”: "2nd",
@iohtValue”: "365"
"“rotationValue": "90",
“time": "10:20:17"
b
{
"group”: "3rd",
"lightValue": "163",

"“rotationValue": 165",

“time": "10:20:17"

b

{
"group”: "4th’,
"lightValue": "242",
"“rotationValue": 130",
“time": "10:20:17"

b

{
"group”: "1st",
"lightValue": "409",
"“rotationValue": 180",
“time": "10:20:17"

13

“rotationValue":
“"time": "10:20:17"

“group”: “3rd",
"lightValue": "162",
“rotationValue": "165",
“"time": "10:20:17"

“group”: “4th",
"lightValue": "236",
“rotationValue": “130",
it 110):0017"

2023

"group™: “2nd",
"lightValue": "366",
"rotationValue": "90",
“time": "10:20:17"

}

{

“group”: “3rd",
"lightValue": "162",
“rotationValue": "165",
“time": "10:20:17"

}

{
"group”: "4th’,
"lightValue": "236",
"rotationValue": 130",
“time": "10:20:17"

}

“group”: “Ist”
“lightValue": " |
“rotationValue": 180",
“time": "10:20:17"

“group” “2nd",
"lightValue": “364",

“group”: “1st’,
"lightValue”: "409",
“rotationValue": “180",
“"time": "10:20:17"

“group’: “2ndl’,
"lightValue": "366",
“rotationValue": "90",
“"time": "10:20:17"

“group”: “3rd",
"lightValue": "171",
“rotationValue": "165",
“"time": "10:20:17"

“group”: “4th",
"lightValue”: "239",
“rotationValue": “130",
“"time": "10:20:17"

“group”: “1st’,
"lightValue": "4f
“rotationValue": “180",
“"time": "10:20:17"

rotatlonVaIue” 90
“"time": "10:20:17"

“group”: “3rd",
"lightValue": "168",
“rotationValue": "165",
“"time": "10:20:17"

“group”: “4th",
"lightValue": "247",
“rotationValue": “130",
“"time": "10:20:17"

“group”: ”15(" [ J
5"
o 180",
"W,

group”: “2nd",
ightValue”: “367",
otationValue”:

"time": "10:20:17'

“group”: “3rd",
"lightValue": "164",
“rotationValue": "165",
“"time": "10:20:17"

“group”: “4th",
"lightValue": "237",
“rotationValue": “130",
“"time": "10:20:17"

“group”: “1st’,
"lightValue”: "409",
“rotationValue": “180",
“"time": "10:20:17"

“group’: “2ndl’,
"lightValue": "365",
“rotationValue": "90",
“"time": "10:20:17"

{
"group”: "3rd",
"lightValue": "164",
"rotationValue": “165",
“time": "10:20:17"

b

{
"group”: "4th’,
"lightValue": "234",
"rotationValue": “130",
“time": "10:20:17"

b

{
"group”: "1st",
"lightValue": "410",
"rotationValue": "1
“time": "10:20:17"

b

{
"“group”: "2nd",
"lightValue": "364",
"“rotationValue": "90",
“time": "10:20:17"

b

{
"group”: "3rd",
"lightValue": "163",
"“rotationValue": 165",
“time": "10:20:17"

b

{
"group”: "4th’,
"lightValue": "238",
"rotationValue": “130
“time": "10:20:17"

b

{
"group”: "1st",
"lightValue": "409",
"“rotationValue": 180",
“time": "10:20:17"

b

{
"group”: "2nd",
"lightValue": "364",
"“rotationValue": "90",
“time": "10:20:17"

b

“time": "10:20:17"

b

{
"group”: "4th’,
"lightValue": "237",
"rotationValue": "130",
“time": "10:20:17"

b

{
"group”: "1st",
"lightValue": "410",
"rotationValue": "1
“time": "10:20:17"

b

{
"group”: "2nd",
"lightValue": "364",
"“rotationValue": "90",
“time": "10:20:17"

b

{
"group”: "3rd",
“lightValue": ™
"rotationValue": ”165”
“time": "10:20:17"

b

{
"group”: "4th’,
"lightValue": "239",
"rotationValue": “130
“time": "10:20:17"

b

{
"group”: "1st",
"lightValue": "409",
"“rotationValue": 180",
“time": "10:20:17"

b

{
"group”: "2nd",
"lightValue": "367",
"“rotationValue": "90",
“time": "10:20:17"

b

{
"group”: "3rd",
"lightValue": "166",
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C++ 100.00%
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SlaBgoIog oTo
Github

Arduino

sevo-lightsens

1 |// ctt code
2 [//https://www.arduino.cc/en/Tutorial/Knob - servo instructions

$#include <Servo.h>

5 //lst Servo K’

int sensorvalue = 0;

7 int sensorvalue new = 0; -
gl ol e 1F1st ServofLIIFIIIIIEEEETETEAETEEEEEEEEETETIFEEETFIEEEIITEL I EITTEF
e m?si?} ;gta; Ptii;; O Kwdlkag dexeTaL WG ELGPON TA
’ pinMode (A0, INPUT); Sedopgva amod TIC PWTOAVTIOTACELG
11 2nd , ’
] iifsei:;’:dme 58E f#2nd Sexvo-JITHITIITEELEEETTTIAETTEEEEEETEFIIEETIITFIEETIIIFIIEEIIIET Kal Ta avatpododotei wg Kivnon ota
13 |int sensa:value_naw 2 =0; myservol ACtAChil0g SerVO
A 8 o - pinMode (a1, INPUT);
14 int rotation 2 = 0;
LD |SeTEEIted 743xd sexvo-[LILFAHEEIIETEETEETEEREEETTEIEEETERIEFELELIEFELELIEIIIE0TEETIE
_f‘ myservo3.attach{9);
2 Hu 3EEEe pinMods (A2, INBUT); 3

1% int sensorvalue 3 = 0;

1% int sensorvalue new 3 = 0;

/1 3th Sexvo= /LTI EELTI IR EELITEEE PP I TEEii i iiridiididiiiiiiiiiiissd °
myservod.attach(6);
pinMode (A3, INPUT);

20 int rotation 3 = 0;

//1st Servo
nt {*lat:=");

nt (sensorvalue_new);
("imy;

Serial.println(rotation);

21 Servo myservo3;

w

6 |1
23 //4th Servo

int sensorvalue 4 = 0; Serial.

void loop()
B{
sensorvalue new = analogRead (a0); //lst Servo
gRead{al);//2nd Servo
nalogRead {A2);//3zd Serveo

sensorvalue new 4 = analogRead(a3);//4th Servo

int sensorvalue new 4 = 0;

26 int rotation 4 = 0;

//2nd Servo

Serial.

27 Servo myservod;

sensorvalue _new 2 =

{"2nd:"});
it (sensorvalue new 2);
(")

In(rotation_2);

sensorvalue new 3 =
Serial.

G

Serial.

60
1
62
3
Py

Serial.

1 int maxL = 500 ; //max lighg

/{Servos if

65
32 |int minkL = 5; //min light €6 FirstServa()
A int maxR = 180; //max rotation 67 secondServol(); //3rd Servo
34 |int time = 15; //delay time 68 thirdserva(); Serial. £ f=3rd=")7
int lim = 10; // + - limits [for if 60 fourthServo(); Serial. (sensorvalue_new 3);

36 10 //end of servos Serial.print (":");

37 |void set':g:_l_}’_Q 71 Serial. In(rotation_3);

388 { 72 myservo.write (rotatiom);//send the angle of rotatin to lst serve

39 Serial.begin(9600); 73 myservo2.write (rotatiomn 2);//send the angle of rotatin to 2nd servo //4th Serve

40 74 myservod.write EIDtation_B};ffsend the angle of rotatin to 3rd servo Serial.print ("4th:"); "

Serial.

Serial.

(sensorvalue new 4);
mE LTl _

Serial.

— 75 myservod.write (rotation 4);//send the angle of rotatin to 4th servo
76

//time
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rotation 4 = 180;

5
s

18 woid firstServo
R i 4 File Edit Sketch Tools Help
2B if (sensorvalue new <= 500 || sensorvalue_new >= 3)
3g if ( abs(sensorvalue new - sensorvalue} > lim} {
40 if (sensorvalue new
5} sensorvalus += 5; SEVORd
€ rotation += 5; File Edit Sketch Tools Help void thirdServo() {
= if (rotation > 180) if (sensorvalue new 3 <= 300 || sensorvalue mew 3 >= 5) {
8 rotation = 180; if { abs(sensorvalue_new 3 - sensorvalue 3) > lim) {
g i sanvo_1 if (sensorvalue new 3 > sensorvalue 3) {
10 gensorvalus 3 += 5;
i void secondServol() { pumenius o := 5.
128 S if- (sensorvalue new 2 <= 500 1| 5ensoxva1ue_new_2->: o) if (rotation 3 > 180) [
13 rotation —= 5; if ( abs(sensorvalue_new 2 - sensorvalue 2) > lim) { rotation 3 = 180;
N iy if (sensorvalue new 2 > sensorvalue 2) { -
14 sensorvalue —= 5; i - }
158 if (crotation < 0} { sensorvalue 2 += 5y } File Edit Sketch Tools Help
. P = rotation 2 += 5;
16 rotation = 0; = e
17 1 if (rotation_ 2 > 180) { S
. rotation 2 = 180; rotation 3 -= 5:
1 } Bin s = 52
o 1 s:nso:value_.?g g' '_E|| void fourthServo({) {
s < =
< - ‘mt"'tw;‘— ;' M 20 if (sensorvalue mew 4 <= 500 || sensorvalue mew 4 >= 5] {
21 tati =0; i e
o RO & g if ( abs(sensorvalue new 4 - sensorvalue 4) > lim) {
228 else if (sensorvalue new < 5) { gas I 1] o, =
o roiniion = s - rotation 2 -= 5; ) 4B if (sensorvalue new ¢ > sensorvalue 4) {
4 & sensorvalue 2 —= 5; s ; 5 sensorvalue_4 += 5;
# 5 5 . - & rotation 4 += 5;
250 else if (sensorvalue new > 500) if (rofation z = D)) 20 " - = ’
N . _ = rotation 2 = 0; 2 =] if (rotation 4 > 180) {
26 rotation = 180; - 21 } rotation 4 = 180;
27 - ! 226 else if (sensorvalue new 3 < 5) { : i - : 5
23 s ¥ 23 rotation_3 = 0; y i
- ) 24 | 3 o
20 11
20 25 else if (sensorvalue new 3 > 500) { =
21 } . = = 128 else {
26 rotation 3 = 180; L34 ~ _
228 else if (sensorvalue_new 2 < 5} { 5 i - - rotation 4 -= 3;
23 rotation 2 = 0; ;: ) 14 sensorvalue_4 -= 5;
24 } o 158 if (rotation 4 < 0) {
258 else if (sensorvalue_new 2 > 500) { 16 rotation ¢ = 0;
26 rotation 2 = 180; 17 ]
27 } 18 }
28 |} 19 }
20
21 }
228  else if (sensorvalue _mew 4 < 5) {
23 rotation & = 0;
24 }
258 else if (sensorvalue new 4 > 500} {
26
27
28

—
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HTML 195%
CSS 3.4%

precentage-calculator

%] File Edit Selection View Go Run Terminal Help sketchyjs - precentage-calculator_coding - Visual Studio Code = *
@ EXPLORER Sett ‘ L [ ==
~+ OPEN EDITORS sketchjs > @ preload sketchjs » (@ preload
/O GROUP 1 1 let img; . ) 49 :
sketchijs M 2 let patternCounts = { ce function colorMatchesPattern(colorl, color?) {
Settings 3 red: @, 51 // Compare the RGB values of two colors for an exact match
% - 4 green: @, 52 return (red(colorl) red(color2) &&
SHOE 2 . 5 blue: @ 53 green(colori) = green(color2?) &% t 'm
I> 2 sketchs M [ ¥ 54 blue(colorl) === blue(colorz2));
o ~ PRECENTAGE-CALCULATOR_CODING 7 5t }
~ images 8 function preload() {
EJD u 9 // Load the image
= u 1@ img = loadImage('images/imv.png’);
@ im1Va.png .Ll console.log("image loaded");
12 t
& im2.png 13
& im2Va.png u 14 function setup() {
I~ 15 /f Create a canvas that matches the image dimensions
[ 16 createCanvas(img.width, img.height);
= 17
= i 18 // Display the image on the canvas
o L': 19 image(img, 0, ©);
28
E u 21 // Loop through every pixel in the image
& imV.png u 22 for (let x = 8; x < img.width; x++) {
> libraries 2 for (let y = &5 y < Img.helght; y++) { O kwdikag dexeTal wg lopon Eva
© gitattributes 24 // Get the color of the current pixel , , ,
¢ indexchtml 25 let pixelColor = get(x, y); MOTiB0 TWV TPLWV BACIKWY XPWUATWVY
: s 26 ; . y
J>0nlg.J=0n 27 [/ Check if the color matches any of the patterns (RGB) oe W'qu)'f] 'p|Xe|S KQ'l UT[O}\OV[(S[
U README.md 28 if (colorMatchesPattern(pixelColor, color(255, @, @))) { TO TIOOOOTO eUPaAvIoNg KAOe
sketch,js 29 patternCounts.red++; Xpd)HGTOQ
# style.css 3@ } else if (colorMatchesPattern(pixelColor, color(e, 255, @))) { .
3 patternCounts.greent+;
32 } else if (colorMatchesPattern(pixelCeolor, color(@, @, 255)))
33 patternCounts.blue++;
34 1
35 }
36 1
37
38 // Calculate the percentages
39 let totalRGB = patternCounts.red + patternCounts.green + patternCounts.blue ;
48 let redPercentage = (patternCounts.red / totalRGB) * 1@@;
41 let greenPercentage = (patternCounts.green / totalRGB) * 18@;
42 let bluePercentage = (patternCounts.blue / totalRGB) * 1@@;
43
44 // Print the percentages
45 console.log( "Red percentage:”, redPercentags);
@ 46 console.log( "Green percentage:', gresnPercentage);
47 console.log( "Blue percentage:’, bluePercentage);
{é\} > DUTLINE a2 o
49
» TIMELINE - o e T Lona PR
Pmainr® ®oho Ln10,Col 37 Spacess2 UTF-8 CRLF {} JavaScript @ Port:5500 & [
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Language

p5.js-Save_JSON_interval

0O kwdikag eivat
Slabgoluog oto
Github

HTML 12.2%

CSS 1.2%

®] File Edit Selection View Go Run Terminal Help serial_comm js - p3.js-Save_JSON_interval - Visual Studio Cods =i x
@ EXPLORER serial_commyjs X ‘ Settings ‘ o
s OPEN EDITORS serial_comm,js > (P gotData serial_commjs » ) gotData
/O GROUP 1 1 // serial communication between a microcontroller with a switch on pin 2 3
serial_cammjs 2 // arduino code can be found here : https://gist.github.com/shfitz/7fd2e6b7db4ede64 44  function gotopen() { :
GROUP 2 3 45 console.log("Serial Port is Open™); 5
g_(; 3 e i 4 let _ser'ial; // variable for the serial .object ) 46 T
o c let latestData = "waiting for data"; // variable to hold the data 47
I} Settings [ 48 function gotClose() {
e ~ P5.JS-SAVE_ISON_INTERVAL T function setup() { 49 console.log("Serial Port is Closed"); F
a ® gitattributes 8 createCanvas (868, 208); ca latestData = "Serial Port is Closed”;
¢ index.html a background(255, 255, 255); 51 ¥
5 READMEmd 18 ') s..e—'1a1 corstr*uctc_w 52 .
. 11 serial = new p5.SerialPort( 53 function gotkrror(theerror) {
LIS 12 // get a list of all connected serial devices 54 console.log(theerror);
sketchjs 13 serial.list(); 55}
splitData,js 14 // serial port to use - you'll need to change this 1133
# style.css 15 serial.open{"COM3"}; 57 /{ when data is received in the serial buffer
16 /{ callback for when the sketchs connects to the server 3]
TOUTIINE 17 serial.on("connected”, serverConnected); 59 function gotData() {
18 /f callback to print t list of serial dewvices 68 let currentString = serial.readline(); // store the data in a variable
] serial 19 serial.on("1list", gotlList); 61 trim{currentString); // get rid of whitespace
[ latestData 28 /{ what to do when we get serial data 62 if (!currentString) return; // if there's nothing in there, ignore it
) setup 21 serial.on("data", gotData); 63 // console.log(currentStrin f/ print it out
& serverConnected 22 /{ what to do when there’'s an error 64 latestData = currentString; // save it to the global variable
~ & gotList 23 serial.on("error”, gotError); 5 splitData();
el 24 // when to do when the serial port opens 66 |}
25 serial.on("open", gotOpen);
@ gotOpen 26 // what to do when the port closes ||
@ gotClose 27 serial.on("close”, gotClose);
@ goterror e 23 initiateIntervals(); //initiate the interwvalls for date and Aaving
~ @ gotData 29 +
[=] currentString 3
31 function serverConnected() { ZU}\}\éVSl 6860l’1é\)a O.T[(') TO Serial
32 console.log("Connected to Server"); . .
EER monitor Tou Arduino.
34
35 // list the ports
36 function gotList(thelist) {
37 console.log{"List of Serial Ports:");
38
39 for (let i = 8; i < thelist.length; i++)
4@ console.log(i + " " + thelist[i]);
a1 3
42 3}
43
|PRC-E-, ‘ OUTPUT DEBUG COMNSOLE TE MAL SERIAL MONITOR Fi s Y| & F ~ %
@ Mo problems have been detected in the workspace.
{g} » TIMELINE
I° current_changes & ®0AQ Ln 66, Col 2 Spaces:2 UTF-8 CRLF (} JavaScript @ Golive & [
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= Edit Selection View Ge Run  Terminal Help splitDatags - p5js-Save JSON interval - Visual Studio Code Do oo - 53
EXPLORER ‘ o splitData,js X Settings
- OPEN EDITORS splitDatajs > .. splitDatajs » ..
GROUP 1 1 //storing minutes and seconds in data array and save them in a Json file, the name a4 .
W splitData,js 2 //And after saving the array is cleared 45 /fwhen its called the data array is been saved in the JSON file -
GROUP 2 3 let DateToday = "current date”; 46  function saveDatatoFile() {
4 let data = []; 47 savelSON(data, DateToday);
splitData.js X B . .
g //let dataTrack; - 43 console.log('Data saved to file.');
Settings 6 20 }
+ P5.J5-SAVE_JSON_INTERVAL T let splitString; 4]
# _gitattributes 8 51 //clear the array when the export finish
© indexhitml 9  function initiateIntervals() { 52  function cleararray(){
HERBTRE e 1@ setInterval(timer, 6@@e@); //to save the file every x milliseconds, 60@ee=695econ 53 data.length = 8;
Rk i 11 // setInterval(splitData(), 2@@@); // to update the array with current timé every 54 if (data.length==0){
SenalEommas 12 setInterval(saveimage, 588); //to save the file every x milliseconds, ©.Eseconds tS console.log("Array clearsd");
sketchys 13} 56 lelsef
splitData,js 14 57 console.error("Array failled to clear");
# stylecss 15 //its beeing used for the JSON name, so it can be a unique every 1 segfond 58 T
16 function currentdate() { 59 i
17 let currentdate = year()+ "" + month() + "" + day() + "_" + hour() + "" + minute(
~ QUTLINE
18 return currentdate;
[=] DateToday 10 1
] data 20
[=] splitString 21 //seperate data according to number of servo and store them in array
& initiatelntervals 22 function splitData() {
< @ currentdate 23 splitString = split(latestData, ":");
e 24 let dataTrack ={ //create this object with the following 2 propertiew
) 25 group: splitString[e],
10,3 splitData : - - =
26 lightvalue: splitString[1],
~ [=] dataTrack 27 rotationvalue: splitstring[2], AlO.XSLpiCSTO.l Ta 6860uévq TIOV
# group 28 time: hour()+":" +minute()+":" +second( . .
2 lightvalue 20 1 eAndONnoav. Ta KatnyopLoToLel kal Ta
£ rotationvalue 3@ drawing (dataTrack); amoBnkeLel oe €va apyeio .JSON yla
P time e 31 // GlobaldataTrack = dataTrack; //Storé the dataTrack object in a global variable , .
: 32| data.push(dataTrack); HeAAOVTIKN avaAuon.
) timer 33 return dataTrack;
&) saveDatatoFile 4}
@ cleararray 35
36 //when its called the procedure/of saving is trigered
37 function timer() {
38 console.log("saving...");
39 DateToday = currentdatef(/);
4@ console. log(DateToday s
11 saveDatatoFile();
42 cleararray();
43 1
PROBLEMS QUTPUT DEBUG CONSOLE TERMIMAL SERIAL MONITOR Filter {e.g. text, **/*. 5,7 | & = ~ X
Mo problems have been detected in the workspace.
» TIMELINE
current_changes 3+ @0 A0 Ln 45, Col 38 Spaces:2 UTF-8 CRLF ()} JavaScript @ Golive & [

1"



File Edit Selection View

Go

Run

Terminal

Help sketch,js - p3.js-Save_JSON_interval - Visual Studio Code

<
@
Jo
P

EXPLORER

~v OPEN EDITORS

> () saveimage

sketchjs > @ draw

GROUP 1 1 function draw() { 44
sketchys 2 // background(255, 255, 255); 45 [/ function makebullet(x, y, d) {
GROUP 2 3 //ellipse(width / 2, height / 2, 1ee, 1ee); 46 I/ fill(e);
= 4} e 47 // ellipse(x - d, y - d, 5)
p 6 sketchjs 5 23 11y
Y Settings 6  function drawing(dataTrack) { 49
& ~ P5.JS-SAVE_JSON_INTERVAL ) // if (second() % 5 == 8) { ce function makereellipse(x, y, a, b, ¢) {
© _gitattributes 8 o background(255); 51 stroke(255);
<> index.html 9 H} 52 sFrokel:Jeight(:l);
) READMEmd 18 {/maketext(data'(r‘ack.11ghtVa1ue) 53 Fll_'.l(c,:-; )
11 if (dataTrack.group == "1st") { 54 ellipse(x, y, a, b):
serial_commjs 12 let ¢ = color(242, 77, 22, 1@); //forange, port 11 55 ¥
sketchjs 13 makereellipse(260, 200, dataTrack.lightvalue, dataTrack.rotationvalue, c); %6
splitDatajs 14 makeLine(20@, 200, 308, 500); 57 function maketext(a) {
# style.css 15 // makebullet(20@, 200, dataTrack.lightvalue); 58 text(a, width / 8, height / B8); // print the data to the sketch
16 } else if (dataTrack.group == "2nd") { 59 b3
OUTUNE 17 let ¢ = color(74, 36, 24, 18); //brown port 18 68
18 makereellipse(38@, 5@@, dataTrack.lightValue, dataTrack.rotdtionValue, c); 61 function saveimage(){
@ draw 19 // makeline(width / 2, height / 2, dataTrack.lightValue, gataTrack.rotation 62 DateToday = currentdate();
~ @ drawing 28 makeline(3@@, 500, 558, 180); 53 save(DateToday +".3pg");
[=c 21 // makebullet(36@, 586, dataTrack.lightvalue); 64 console.log("SavingImage™)
[l ¢ 22 } else if (dataTrack.group == "3rd") { 65 ¥
el ¢ 23 let ¢ = color(23, 224, 227, 1@); //cyan port @
i 24 makereellipse(55@, 186, dataTrack.lightvalue, datéTrack.rotationvalue, c);
B 25 // makeline(55@, 188, dataTrack.lightValue, datgTrack.rotationValue);
(9 makeLine . _ —
26 makeLine(55@, 18@, 55@, 55@);
@ makereellipse 27 // makebulletReverse(558,188, dataTrack.lighfValue);
2 maketext 28 } else if (dataTrack.group == "4th") {
7 saveimage 29 let ¢ = color(23, 227, 173, 18); //cyan-gtreen port 9
e makereellipse(55@, 558, dataTrack.light¥alue, dataTrack.rotationValue, c); . ,
31 // makeLina(55@, 55@, dataTrack.light¥alue, dataTrack.rotationvalue); OTTIKOTIOLEL T 8860HSVQ i (e]V]
= s e s B B AapBavovtal aro to Arduino og
34 console.error(“Label '" + dataTrdck.group + "' doesn’t much”); npavua‘nKé ch’)vo Kat anoenKel')Sl
35 } ’
% ) screenshots Tou TeAkoU
& ATIOTEAEOATOG.
39 function maksLine(x1, x2, y1, y
48 strokeleight(1);
41 stroke(240);
a2 line(x1, x2, yi, y2);
43}
PROBLEMS| ©OUTPUT  DEBUG COMSOLE  TERMIMAL  SERIAL MONITOR = ~ X
@ Mo problems have been detected in the workspace,
{g} » TIMELINE
1# current_changes < @0 A0 Ln1,Col 1 Spaces:4 UTF-8 CRLF {} JavaScript @ Golive & 0
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Perlin noise flow field e o
CSS 1.5%
#J File Edit Selection View Go Run Terminal Help = - perlin_noise_flow_field - Visual Studio Code B8 maon -
N B o -
*~ OPEN EDITORS sketchjs > [=]inc sketch.js > ..
p GROUP 1 1 > [let inc = 8.9; // increment for perlin noise-- 112 |
sketch,js 3 let cols, rows; // number of columns and rows
ZP GROUP 2 4 iet ZGH:-:_BJ 17 % o'FFlget for perlin rcisel ) s
5 t t = []: // array to st rticle t
= T ; et particles = [] array to store particle objects
I.> ~ PERLIN_NOISE_FLOW _FIELD 7 let flowfield:
£ © _gitattributes 3
o <> index.html 9 class Particle {
& 1) README.md 18 constructor()
cketch js 11 this.pos = createVector{random(width), random(height)); // initialize particle posi
P 12 this.vel = createVector(e, @); // initialize particle velocity to zero
ST 13 this.acc = createVector(®, @); // initialize particle acceleration to zero
14 this.maxSpeed = 2; // set maximum particle speed
15 this.prevPos = this.pos.copy(); // initialize previous position to current position
16 ]
18 update() {
14 al) this.vel.add(this.acc); // update velocity based on acceleration
28 this.vel.limit(this.maxSpeed); // limit velocity to maximum speed
21 this.pos.add(this.vel); // update position based on velocity
22 this.acc.mult(@); // reset acceleration to zero , , , ,
23 } nSpoHaTlKG SladlkaoTika vpa(DL , e Sl.l(I)G.O'T] oTnv aAmewkovion NG
2‘5‘ roree o) 16€ag Tou “"kauBda” yia Tng S1adpacTIKNC EyKaTAoTAONG.
applyForce(force) { B , . . .
26 this.acc.add(force); // apply a force to the particle O Kwbkag TaENnXOn petd and Bpoxo avatpodpodotnong pe chatGPT.
2 }
28 . .
20 | follou(flowfield) { MeAAovTikeG epyaoie
3@ let x = floor(this.pos.x / scl); // calculate x index in flow field
31 let y = floor(this.pos.y / scl); // calculate y index in flow field L A AN T[i.6 TV T TIKT KATAOT KAl ToV
32 let index = x + ¥y * cols; // calculate index of vector in flow field gloaywyna € paonq e paypa N gykataotaacn kat 1o
33 let force = flowfield[index]; // get vector from flow field XPNOTN HEO WV SLASIKAOTIKWVY VPAPLIKWV.
;: 7 this.applyForce(force); // apply vector as force to particle _Be)\.ﬂwo. ou KU)SLKQ
36
37 show() { ] , _ ) MeAXOVTIKEG epyaoieg:
38 stroke(5@, 255); // set stroke color to black with 58% opacity
39 strokelleight(3); // set stroke weight to 1 pixel
48 line(this.pos.x, this.pos.y, this.prevPos.x, this.prevPos.y); // draw line from pre -1 N AAANAETILO NV 1T TIKT KOTAOT KOl ToV
sloaywyn AAANAETISpaong e TNV TIPAYUATIKY) EyKATACTAOT KAl TO
41 this.prevPos = this.pos.copy(); // update previous position to current position XpT"]O'TT'] l,léO'().) Wy élaalKQO'Tle)V ypachKd)v
a2 1 .
43 -BeATiwon Tou Kwdika
44 edges() {
45 if (this.pos.x > width) this.pes.x = @; // wrap particle around if it goes off the
46 if (this.pos.x < @) this.pos.x = width; // wrap particle around if it goes off the
@ 47 if (this.pos.y > height) this.pos.y = @; // wrap particle around if it goes off the
43 if (this.pos.y < @) this.pos.y = height; // wrap particle around if it goes off the
{g} > OUTLINE oo )
L@ Hd
» TIMELINE o,
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https://github.com/evitasimaresi/perlin_noise_flow_field

*®] File Edit Selection View Go Run Terminal Help sketch,js - perlin_noise_flow_field - Visual Studio Code D O [ o8 x
o | o | [ [0 seenis ] \
~ OPEN EDITORS sketchyjs > &l inc sketchjs > ..
/O GROUP 1 52 function createFlowField{cols, rows, scl) { 83 function draw() {
sketchjs ////gg. let flowfisld = []; T 109 pop(); // restore previous transformation matrix
GROUP 2 54 o }
39 S i 55 let noiseScale = 8.1; // set scale for noise values 182 yoff += inc; // in(Tement y offset
E 56 for (let y = @; y < rows; y++) | 183 zoff += ©.0883; // increment z offset
!> AAETRUN MO T HED 57 for (let x = 8; x < cols; x++) { le4 }
= ® gitattri ca let index = x + y * cals; ; 185 for (let i = @; i < particles.length; i++) {
& <> ingethtml cg let angle = noise(x * noiseScale, y * noiseScale) * TWO_PI * 4; // generate noise 106 particles[i].follow(flowfield); // update particle movement based on flow field
E%j (" README.md 1] let vector = p5.Vector.fromAngle(angle); // create vector from angle 1 a8y particles[i].update(); // update particle position
sketchjs 61 vector.setMag(1); // set magnitude of vector to 1 188 part%(les[%].edges(}} // check iF.particle is outside canvas
# style.css 62 flowfield[index] = vector; // store vector in flow field 189 particles[i].shou(); // draw particle
&3 \ 110 )
o . 11}
65 12|
86 return flowfield;
67 1}
68
69
7@ function setup() {
71 createCanvas(88e, 208); // create canvas
72 cols = floor(width / scl); // calculate number of columns
73 rows = floor(height / scl); // calculate number of rows
74
75 flowfield = createFlowField{cols, rows, scl);
76
77 for (let i = @; i ¢ 2000; i++) {
78 // create 1080 particles
79 particles[i] = new Particle(); // create particle object
80 i ]
81 }
82
83 function draw() {
34 background(248); // set background color to white
85 let yoff = @; // initialize y offset for perlin noise
86 for (let y = 8; y < rows; y++) {
87 let xoff = @; // initialize x offset for perlin noise
388 for (let x = 8; x < cols; x++) {
89 let index = x + y * cols; // calculate index of vector
a8 let angle = noise(xoff, yoff, zoff) * TWO_PI; // calculate angle using perlin noi
a1 let v = p5.Vector.froméngle(angle); // create vector from angle
92 v.setMag(1); // set magnitude of vector to 1
a3 flowfield[index] = v; // set vector in flow field array
a4 xoff += dinc; // increment x offset
a5 stroke(8, 58); // set stroke color to black with 58% opacity
96 push{); // save current transformation matrix
@;) 97 translate(x * scl, y * scl); // translate to current grid cell
98 rotate(v.heading()); // rotate to vector heading
€§} » OUTLINE 499 line(®, @, scl, @); // draw line from origin to end of cell
S TIMELINE 180 R pop(); // restore previous transformation matrix
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"group”: "4th',
"lightValue": "232",
"rotationValue": 125",
“time": "10:20:14"

b

{
"group”: "1st",
"lightValue": "410",
"rotationValue": “180",
“time": "10:20:14"

b

{
"group”: "2nd",
"lightValue": "368",
“rotationValue": "85,
“time": "10:20:14"

b

{
"group”: "3rd",
"lightValue": "173",
"rotationValue": “165",
“time": "10:20:14"

b

{
“group”: "4th",
"lightValue": "247",
“rotationValue": “130",
“time": "10:20:14"

b

{
"group”: "1st",
"lightValue": "407",
"rotationValue": “180",
“time": "10:20:14"

b

{
"group”: "2nd",
"lightValue": "366",
“rotationValue": "85,
“time": "10:20:14"

b

{
"group”: "3rd",
"lightValue": "161",
"rotationValue": “165",
“time": "10:20:14"

b

{
"group”: "4\\20

“lightValue™: zas,
“rotationValue": “130",
“time": "10:20:14"

b

{
"group”: "1st",
"lightValue": "408",
"“rotationValue": 180",
“time": "10:20:14"

b

{
"group”: "2nd",
"lightValue": "366",
“rotationValue": "85,
“time": "10:20:14"

b

{
"group”: "3rd",
"lightValue": "159",
"rotationValue": “165",
“time": "10:20:14"

b

{
"group”: "4th',
"lightValue": "235",
“rotationValue": “130",
“time": "10:20:14"

b

{
"group”: "1st",
"lightValue": "409",
"rotationValue": “180",
“time": "10:20:14"

b

{
"group”: "2nd",
"lightValue": "366",
"rotationValue": "85,

"rotationValue": “130",
“"time": "10:20:14"

b

{
"group”: “1st’,
"lightValue": "407",
"rotationValue": “180",
“"time": "10:20:14"

b

{
"group”: “2nd",
"lightValue": "360",
“rotationValue": “85",
“"time": "10:20:14"

b

{
"group”: “3rd",
"lightValue": "152",
"rotationValue": “160",
“"time": "10:20:14"

b

{
"group”: “4th’,
“lightValue": "235",
"rotationValue": “130",
“"time": "10:20:14"

b

{
"group”: “1st’,
“lightValue": "408",
"rotationValue": “180",
“time": "10:20:14"

b

{
“group”: “2nd",
“lightValue": "366",
“rotationValue": "85"
“time": "10:20:14"

b

{
"group”: “3rd",
"lightValue": "168",
"rotationValue": “160",
“"time": "10:20:14"

b

{
"group”: “4th’,
“lightValue": "236",
"rotationValue": “130",
“"time": "10:20:14"

b

{
"group”: “1st’,
“lightValue": "409",
"rotationValue": “180",
“"time": "10:20:14"

b

{
"group”: “2nd",
“lightValue": "367",
“rotationValue": “85",
“"time": "10:20:14"

b

{
"group”: “3rd",
"lightValue": "170",
"rotationValue": “160",
“"time": "10:20:14"

b

{
"group”: “4th’,
“lightValue": "237",
"rotationValue": “130",
“"time": "10:20:14"

b

{

"group”: “1st’,
"lightValue": "410",
"rotationValue": “180",
“"time": "10:20:14"

b

{
"group”: “2nd",
“lightValue": "370",
“rotationValue": “85",
“"time": "10:20:14"

b

{
“group”: “3rd",
"lightValue": "179",
“rotationValue": "165",
“"time": "10:20:14"

b

{
"group”: “4th’,
"lightValue": "242",
"rotationValue": 130",
“"time": "10:20:14"

Y

{

“group”: “1st’,
"lightValue”: "410",
“rotationValue": “180",
“time": "10:20:14"

b

{
“group”: “2nd",
"lightValue": "365",
"rotationValue": "85"
“time": "10:20:15"

b

{
“group”: “3rd",
“lightValue": "171",
“rotationValue": 165",
“time": "10:20:15"

b

{
“group”: "4th",
"lightValue": "240",
“rotationValue": “130",
“time": "10:20:15"

b

{
“group”: “1st’,
"lightValue”: "409",
“rotationValue": “180",
“time": "10:20:15"

b

{
“group”: “2nd",
“lightValue": "366",
"rotationValue": "85"
“time": "10:20:15"

b

{
“group”: “3rd",
“lightValue”: "167",
“rotationValue": 165",
“time": "10:20:15"

b

{
“group”: "4th",
"lightValue": "239",
“rotationValue": “130",
“time": "10:20:15"

b

{
“group”: “1st’,
"lightValue": "408",
“rotationValue": “180",
“time": "10:20:15"

b

{
“group”: “2nd",
"lightValue": "365",
"rotationValue": "85"
“time": "10:20:15"

b

{
“group”: “3rd",
"lightValue": "174",
“rotationValue": "165",
“time": "10:20:15"

b

{
“group”: "4th",
"lightValue": "240",
“rotationValue": “130"
“time": "10:20:15"

b

{
“group”: “1st’,
"lightValue”: "412",
“rotationValue": “180",
“time": "10:20:15"

b

{
“group”: “2nd",
"lightValue": "364",
"rotationValue": "85"
“time": "10:20:15"

b

{
“group”: “3rd",
"lightValue”: "167",
“rotationValue": "165",
“time": "10:20:15"

b

{
“group”: "4th",
"lightValue": "244",
“rotationValue": “130",
“time": "10:20:15"

b

{
“group”: “1st’,
"lightValue": "409",

"“rotationValue": 180",
“time": "10:20:15"

h

{
“group”: “2nd",
"lightValue": "366",
"“rotationValue": "85",
“time": "10:20:15"

h

{
"group”: “3rd",
"lightValue": "158",
"“rotationValue": "165",
“time": "10:20:15"

h

{
"group”: "4th’,
"lightValue": "238",
"rotationValue": 130",
“time": "10:20:15"

h

{
"group”: "1st",
"lightValue": "410",
“rotationValue": 180",
“time": "10:20:15"

h

{
“group”: “2nd",
"lightValue": "369",
“rotationValue": "85",
“time": "10:20:15"

h

{
"group”: “3rd",
"lightValue": "172",
"“rotationValue": "165",
“time": "10:20:15"

h

{
"group”: "4th’,
"lightValue": "235",
"rotationValue": 130",
“time": "10:20:15"

h

{
"group”: "1st",
"lightValue": "412",
“rotationValue": 180",
“time": "10:20:15"

h

{
“group”: “2nd",
"lightValue": "368",
"“rotationValue": "85",
“time": "10:20:15"

{
"group”: “3rd",
"lightValue": "171",
"“rotationValue": "165",
“time": "10:20:15"

h

{
"group”: "4th’,
"lightValue": "248",
"rotationValue": 130",
“time": "10:20:15"

h

{
"group”: "1st",
"lightValue": "410",
"rotationValue": 180",
“time": "10:20:15"

h

{
“group”: “2nd",
"lightValue": "371",
“rotationValue": "90",
“time": "10:20:15"

h

{
"group”: “3rd",
"lightValue": "169",
“rotationValue": "165",
“time": "10:20:15"

h

{
"group”: "4th’,
"lightValue": "247",
“rotationValue": 130",
“time": "10:20:15"

h

{
"group”: "1st",
"lightValue": "409",
"rotationValue": "180",
“time": "10:20:15"

13

{
“group”: “2nd",
“lightValue": "366",
“rotationValue": “90",
“"time": "10:20:15"

b

{
“group”: “3rd",
"lightValue": "163",
“rotationValue": “165",
“"time": "10:20:15"

b

{
“group”: “4th’,
“lightValue": "238",
“rotationValue": “130",
“"time": "10:20:15"

b

{
“group”: “1st’,
“lightValue": "411",
“rotationValue": “180",
“"time": "10:20:15"

b

{
“group”: “2nd",
"lightValue": "366",
“rotationValue": "90",
“"time": "10:20:15"

b

{
“group”: “3rd",
"lightValue": "167",
“rotationValue": “165",
“"time": "10:20:15"

b

{
“group”: “4th’,
"lightValue": "246",
“rotationValue": “130",
“"time": "10:20:15"

b

{
“group”: “1st’,
“lightValue": "410",
“rotationValue": “180",
“"time": "10:20:15"

b

{
“group”: “2nd",
"lightValue": "366",
“rotationValue": "90",
“"time": "10:20:15"

b

{
“group”: “3rd",
“lightValue": "166",
“rotationValue": “165",
“"time": "10:20:15"

b

{
“group”: “4th’,
“lightValue": "240",
“rotationValue": “130",
“"time": "10:20:15"

b

{
“group”: “1st’,
“lightValue": "409",
“rotationValue": “180",
“"time": "10:20:15"

b

{
“group”: “2nd",
“lightValue": "368",
“rotationValue": “90",
“"time": "10:20:15"

b

{
“group”: “3rd",
"lightValue": "172",
“rotationValue": “165",
“"time": "10:20:15"

b

{
“group”: “4th’,
“lightValue": "243",
“rotationValue": “130",
“"time": "10:20:15"

b

{

“group”: “1st’,
“lightValue": "411",
“rotationValue": “180",
“"time": "10:20:15"

b

{
“group”: “2nd",
“lightValue": "367",

“rotationValue": “90",
“time": "10:20:15"

b

{
“group”: “3rd",
“lightValue": "167",
“rotationValue": “165",
“time": "10:20:15"

b

{
“group”: "4th",
“lightValue": "243",
“rotationValue”: “130",
“time": "10:20:15"

b

{
“group”: “1st’,
"lightValue”: "410",
“rotationValue": “180",
“time": "10:20:15"

b

{
“group”: “2nd",
“lightValue": "366",
“rotationValue": “90",
“time": "10:20:15"

b

{
“group”: “3rd",
“lightValue": "167",
“rotationValue": “165",
“time": "10:20:15"

b

{
“group”: "4th",
“lightValue": "239",
“rotationValue”: “130",
“time": "10:20:15"

b

{
“group”: “1st’,
“lightValue": "409",
“rotationValue": “180",
“time": "10:20:15"

b

{
“group”: "2nd",
“lightValue": "367",
"rotationValue": “90",
“time": "10:20:15"

b

{
“group”: “3rd",
“lightValue": "158",
"rotationValue": "165",
“time": "10:20:15"

b

{
“group”: "4th",
“lightValue": "239",
“rotationValue": “130"
“time": "10:20:15"

b

{
“group”: “1st’,
“lightValue": "409",
“rotationValue": "180",
“time": "10:20:15"

b

{
“group”: “2nd",
“lightValue": "365",
"rotationValue": “90",
“time": "10:20:15"

b

{
“group”: “3rd",
“lightValue": "164",
"rotationValue": "165",
“time": "10:20:15"

b

{
“group”: "4th",
“lightValue": "236",
"rotationValue": “130"
“time": "10:20:15"

b

{
“group”: “1st’,
"lightValue": "410",
“rotationValue": "180",
“time": "10:20:15"

b

{
“group”: “2nd",
“lightValue": "364",
"rotationValue": “90",
“time": "10:20:15"

1

{
"group”: “3rd",
"lightValue”: "163",
“rotationValue": "165",
“time": "10:20:15"

h

{
"group”: "4th’,
"lightValue": "238",
“rotationValue": "130",
“time": "10:20:15"

h

{
"group”: "1st",
"lightValue": "410",
“rotationValue": "180",
“time": "10:20:15"

h

{
"group”: "2nd",
"lightValue": "366",
“rotationValue": "90",
“time": "10:20:15"

h

{
"group”: “3rd",
"lightValue”: "160",
“rotationValue": "165",
“time": "10:20:15"

h

{
"group”: "4th’,
"lightValue": "242",
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“time": "10:20:15"

h

{
"group”: "1st",
"lightValue": "409",
“rotationValue": "180",
“time": "10:20:15"

h

{
"group”: "2nd",
"lightValue": "366",
“rotationValue": "90",
“time": "10:20:15"

{
"group”: “3rd",
"lightValue": "158",
“rotationValue": "165",
“time": "10:20:15"

h

{
"group”: "4th’,
"lightValue": "237",
“rotationValue": "130",
“time": "10:20:15"

h

{
"group”: "1st",
"lightValue": "409",
“rotationValue": "180",
“time": "10:20:16"

h

{
"group”: "2nd",
"lightValue": "365",
"“rotationValue": "90",
“time": "10:20:16"

h

{
"group”: “3rd",
"lightValue”: "163",
“rotationValue": "165",
“time": "10:20:16"

h

{
"group”: "4th’,
"lightValue": "239",
“rotationValue": "130",
“time": "10:20:16"

h

{
"group”: "1st",
"lightValue": "410",
“rotationValue": "180",
“time": "10:20:16"

h

{
"group”: "2nd",
"lightValue": "365",
“rotationValue": "90",
“time": "10:20:16"

{
"group”: “3rd",
"lightValue": "166",
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{
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